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 Introduction 
 
 
 

 

The Catalan Opening typically begins 1 d4 d5 2 c4 e6 3 Ìf3 Ìf6 4 g3 or 1 d4 Ìf6 2 c4 e6 

3 Ìf3 d5 4 g3.  

W________W 
[rhb1kgW4] 
[0p0WDp0p] 
[WDWDphWD] 
[DWDpDWDW] 
[WDP)WDWD] 
[DWDWDN)W] 
[P)WDP)W)] 
[$NGQIBDR] 
W--------W 

A kingside fianchetto by White is its defining feature. In contrast to the Queen’s Gambit 

Declined, where Íd3 or Íe2 is usually played, White will develop the bishop to g2.  

There are a lot of beautiful positional ideas in the Catalan. You can only admire the way 

Kramnik and Giri and So and Caruana use the bishop on g2 like a magician’s wand. The 

spells they cast mean that their opponents play a series of natural, half decent moves and 

find themselves in a lost position with no idea why.  

The good thing for White in most lines of the Catalan Opening is that if he plays pre-

cisely, Black never quite equalizes – he is almost completely equal, but White’s tiny advan-

tage usually lingers on a long time, right until the endgame. It is a rather unpleasant affair 

for Black to be always a bit worse, and if he is careless his fears about his position can grow 

from slight anxiety to serious alarm.  

Sometimes White can do everything right in the Catalan, but his advantage turns out to 

be of a symbolic rather than real nature. For example, he obtains an endgame with a better 

pawn structure or a superior bishop, but a few vigilant moves by Black and it is time to 

agree a draw. Never mind: you can’t win at chess unless your opponent gives you some 
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help. There’s always the next game.  

Is there any drawback to the Catalan? Yes: abandon hope all ye who want to smash your 

opponents in 20 moves with a kingside attack! It can be done – there are some nice sacrifi-

cial attacks in this book – but, well, it requires Black to stir up trouble for himself by re-

sponding in risky style.  

The bishop on g2 is pointing the wrong way if you want to get at your opponent’s king. 

Some players are consummate positional players, but are easily bowled over by direct at-

tacks. You aren’t giving yourself the chance to exploit this weakness in the Catalan. Instead 

you are planning a rook invasion on c7 in 10 moves’ time.  

It is, of course, a question of style and what you are looking for from the opening. If you 

want a safe game with few losing chances and a small plus, then the Catalan is for you. If 

you like grinding out wins in rook and pawn endgames it will suit you fine.  

Despite the rather gloomy prognosis for Black above, I have examined some interesting 

counter measures for him. Almost all of the world elite are prepared to defend against the 

Catalan and have introduced many weapons against it. 

This book aims to cover all the important ideas in every variation of the Catalan. Inevi-

tably there will be gaps as it is such a wide, strategically complex and ever developing 

opening. I can only apologise in advance for any omissions. 

 

Neil McDonald, 

Gravesend  

April 2017 
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Chapter Five 

Black Plays in the  
Centre with ...c7-c5 

 
 

 
 

In this chapter we’ll survey two variations with a quick ...c7-c5 by Black. Firstly, there is a 

Tarrasch approach with 1 d4 d5 2 c4 e6 3 Ìf3 Ìf6 4 g3 c5. 

W________W 
[rhb1kgW4] 
[0pDWDp0p] 
[WDWDphWD] 
[DW0pDWDW] 
[WDP)WDWD] 
[DWDWDN)W] 
[P)WDP)W)] 
[$NGQIBDR] 
W--------W 

Black is prepared to accept an isolated pawn in return for an active development of his 

pieces and equality in space in the centre. On the other hand, few Catalan players can be 

unhappy at already having a target on d5 for their bishop. 

Secondly, after 1 d4 d5 2 c4 e6 3 Ìf3 Ìf6 4 g3 dxc4 5 Íg2 Black can strike at the centre 

with 5...c5. 
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W________W 
[rhb1kgW4] 
[0pDWDp0p] 
[WDWDphWD] 
[DW0WDWDW] 
[WDp)WDWD] 
[DWDWDN)W] 
[P)WDP)B)] 
[$NGQIWDR] 
W--------W 

Black aims to liquidate the white centre and thereby equalize in terms of space. The 

drawback is that he is delaying his development and so leaving himself vulnerable to a 

quick attack by the white pieces.  

Looking at the games in this chapter we might conclude that the ...c7-c5 break doesn’t 

quite equalize for Black. It often frees Black’s game in the Queen’s Gambit Declined, but is 

less effective in the Catalan as White always retains pressure on b7.  

 
 

 
Game 20 

A.Korobov-A.Ermeni 
Gjakova 2016  

 
 

1 d4 d5 2 c4 e6 3 Ìf3 Ìf6 4 g3 c5  

Black immediately challenges the d4-pawn. White’s opening build-up is very natural, 

but have a close look at the note to 7 Ìc3 as it discusses transpositions/the effect of Black 

playing a later ...c7-c5. 

5 cxd5 exd5 

The pawn sacrifice 5...cxd4 is a rare bird, but has featured in some top-level games. 

White should accept the gambit and then give back the material at an opportune moment 

to escape the pressure and emerge with a positional advantage. Thus 6 dxe6 Íxe6 7 Ëxd4 

Ìc6 8 Ëxd8+ Îxd8 9 Íg2 with sensible development so far by White. 
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W________W 
[WDW4kgW4] 
[0pDWDp0p] 
[WDnDbhWD] 
[DWDWDWDW] 
[WDWDWDWD] 
[DWDWDN)W] 
[P)WDP)B)] 
[$NGWIWDR] 
W--------W 

Now after 9...Íb4+ 10 Íd2 Ìe4 rather than 11 a3, as in A.Giri-L.Aronian, Beijing (rapid) 

2013, I prefer 11 Íxb4 Ìxb4 (Black threatens mate in three moves, but stay calm!) 12 Ìa3 

Íxa2 13 0-0 and White is ready to play 14 Îfd1 and then 15 Ìd4 with the initiative in the 

centre. Black’s pieces are somewhat over stretched and his queenside vulnerable. 

Similar, but with the dark-squared bishops still on the board – which seems a worse ver-

sion for Black – is 9...Ìb4 10 Ìa3 Íxa2 (or 10...Íc5 11 Íg5 with pressure for White) 11 0-0 

a6, as in S.Sjugirov-V.Zvjaginsev, Sochi 2015, and now 12 Íe3 Íd5 13 Îfc1 Íe7 14 Íb6 

Îb8 15 Íh3! (White ensures he has unchallenged control of the open c-file; at the same 

time as a preliminary to his next move he avoids the exchange of bishops so as not to give 

Black’s knights access to the d5-square) 15...0-0 16 Ìd4 with a nice edge for White.  

6 Íg2 Ìc6 7 Ìc3 

W________W 
[rDb1kgW4] 
[0pDWDp0p] 
[WDnDWhWD] 
[DW0pDWDW] 
[WDW)WDWD] 
[DWHWDN)W] 
[P)WDP)B)] 
[$WGQIWDR] 
W--------W 

For the sake of clarity I have changed the move order of the game, which actually began 1 

Ìf3 d5 2 d4 e6 3 c4 c5 4 cxd5 exd5 5 Ìc3 Ìc6 6 g3 Ìf6 7 Íg2. Here you can see that a very 
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early 3...c5 meets the same general response from White: you get to play g2-g3 and Íg2.  

The opening in this game is strictly speaking a Queen’s Gambit Tarrasch Defence. None-

theless we need to have some idea of what we are doing as you can’t really avoid it if you 

play the Catalan. For example, if you begin 1 d4 d5 2 Ìf3 Ìf6 3 g3 e6 4 Íg2 you can con-

gratulate yourself on having side-stepped lines where Black plays ...Íb4+ or makes an early 

...d5xc4 exchange, but all the same he can continue 4...c5 5 0-0 Ìc6 when after 6 c4 (what 

else?) 6...Íe7 you have a popular position in the Tarrasch. Then 7 cxd5 exd5 (if 7...Ìxd5 8 

Ìc3 Ìxc3 9 bxc3 0-0 10 Îb1 gives White a slight edge due to his pressure on b7 and strong 

centre) 8 dxc5 Íxc5 9 Ìc3 0-0 reaches the position in the main game. 

Notice also that if Black plays 6...dxc4 in this sequence (instead of 6...Íe7) then we 

reach other games in this chapter where you can choose between 7 Ëa4 and 7 Ìe5.  

7...Íe7  

Black’s bishop is misplaced on b4 after 7...cxd4 8 Ìxd4 Íc5?! 9 Ìb3 Íb4 10 0-0 as giv-

ing up the bishop pair with 10...Íxc3 11 bxc3 is not appealing.  

Instead, 8...Íe7 9 0-0 0-0 leads to a mainline of the Tarrasch where 10 Íg5 and 10 Íe3 

are the main moves, while 10 b3!? is an interesting sideline: for example, 10...Îe8 11 Íb2 

Íc5 12 Ìxc6 bxc6 13 Ìa4, aiming to play against the hanging pawns with Îc1 next move. 

8 dxc5!? 

Now that Black has spent a tempo on ...Íe7, and so can’t play ...Íf8xc5 in one go, White 

exchanges on c5 to clear a way for an attack on d5. I’ve taken another move-order liberty: 

the game actually went 8 0-0 0-0 and then 9 dxc5, but taking on c5 immediately cuts out 

the option of Black answering 8 0-0 with 8...cxd4 9 Ìxd4 0-0, although you could then try 

10 b3!?, as suggested in the previous note.  

8...Íxc5 9 0-0 0-0 10 a3!? 

W________W 
[rDb1W4kD] 
[0pDWDp0p] 
[WDnDWhWD] 
[DWgpDWDW] 
[WDWDWDWD] 
[)WHWDN)W] 
[W)WDP)B)] 
[$WGQDRIW] 
W--------W 

 
 
Question: What are the reasons for this little pawn move? 
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Answer: In a position with an isolated pawn, control of the square in front of the pawn is of 

serious strategic value. In this specific case the d4-square would be a great outpost for a 

white knight as it would be immovable by an enemy pawn and have important influence 

over the centre. However, at the moment Black’s bishop on c5 and knight on c6 are keeping 

out the white knights.  

With 10 a3 the fight begins to wrest the square from Black. White intends to play 11 b4 

to discomfort Black’s bishop. It would like to stay on the a7-g1 diagonal where it watches 

over d4, but then it loses the option of retreating to e7 to defuse the move Íg5, which 

would otherwise pin the knight which defends the d5-pawn. Furthermore, White might go 

the whole hog and advance b4-b5, to force the black knight away from c6, when it also 

loses contact with the d4-square. This would have to carefully judged as White doesn’t 

want to loosen his queenside pawns too much.  

At the same time 11 b4 will give White’s dark-squared bishop the chance to go to b2 

where it enjoys an open diagonal, aiming at Black’s kingside and adding its weight to the 

battle for d4. 

10...a6 

Here are some other options for Black: 

a) 10...Îe8 guards e4 so that after 11 b4 Íb6 the pin with 12 Íg5 is less effective because 

12...d4 doesn’t allow 13 Ìe4. Nonetheless the alternative 12 Íb2 Íg4 13 Îc1 h6 14 Ìa4 

gives White a good game. Black can’t avoid 15 Ìxb6 gaining the bishop-pair as 14...Íc7? al-

lows 15 Íxf6, forcing the ghastly 15...gxf6 since 15...Ëxf6? drops material to 16 b5. 

b) 10...Ìe4 is a fighting move. After 11 Ìxd5 White should be better, but 11...Íe6 gives 

Black a lot of play for the pawn. Instead, he might consider 11 Ëc2: for example, 11...Ìxc3 

12 Ëxc3 Íe7 13 Ìd4 Íg4 (not allowing White a quiet positional advantage) 14 Ìxc6 bxc6 

15 Ëxc6 Íxe2 16 Îe1 Íc4 17 Íf4 Íf6 18 Îad1 and White has some edge.  

c) 10...a5 restrains b2-b4 and after 11 Íg5 d4 12 Íxf6 (12 Ìe4 Íe7 isn’t much for 

White) 12...Ëxf6 13 Ìe4 (here 13 Ìd5!? is also interesting) 13...Ëe7 14 Ìxc5 Ëxc5 the neat 

pawn thrust 15 b4! sets Black problems. 

W________W 
[rDbDW4kD] 
[DpDWDp0p] 
[WDnDWDWD] 
[0W1WDWDW] 
[W)W0WDWD] 
[)WDWDN)W] 
[WDWDP)B)] 
[$WDQDRIW] 
W--------W 
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Following 15...Ëb6 (if 15...axb4 16 axb4 Îxa1 17 bxc5 Îxd1 18 Îxd1 leaves d4 desper-

ately weak) 16 b5 Ëxb5 17 Ìxd4 Ìxd4 18 Ëxd4 Ëxe2 19 Îfe1 Ëa6 and then 20 Îe7 

(rather than the 20 Îab1 of C.Kuberczyk-J.Carlstedt, German League 2016), I like White’s 

position despite the missing pawn due to his active room on e7, lead in development and 

the target on b7. Though the computers don’t agree with me!  

11 b4 Íe7 

After 11...Ía7 the pin with 12 Íg5 causes problems for the defence of the d5-pawn as 

12...d4 allows 13 Ìe4 when Black’s kingside pawns will be broken up.  

12 Íb2 Îe8 

At some point over the next few moves Black should play ...Íg4 to activate his bishop 

and gain counterplay. His overly passive approach lets White build up pressure in peace.  

13 Îc1 Íf8  

The best move was still 13...Íg4. 

W________W 
[rDb1rgkD] 
[DpDWDp0p] 
[pDnDWhWD] 
[DWDpDWDW] 
[W)WDWDWD] 
[)WHWDN)W] 
[WGWDP)B)] 
[DW$QDRIW] 
W--------W 

 
 
Exercise: Can you see a good plan for White to increase the pressure on  

the d5-pawn? Clue: think of a way to redeploy the knight from c3. 
 

 
Answer: 14 e3! 

White fixes the d5-pawn by increasing his grip on the d4-square. At the same time he 

clears the way for a brilliant knight manoeuvre via e2 to f4. On its new kingside post the 

horse will attack d5 just as it did on c3, but with more potency as the bishop on b2 has an 

open diagonal and so there is a threat of Íxf6 followed by Ìxd5. On f4 the knight will also 

be able to join in a direct kingside attack if that becomes the best strategy.  

14...h6 15 Ìe2 Ìe4 16 Ìf4 Íe6 
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W________W 
[rDW1rgkD] 
[DpDWDp0W] 
[pDnDbDW0] 
[DWDpDWDW] 
[W)WDnHWD] 
[)WDW)N)W] 
[WGWDW)B)] 
[DW$QDRIW] 
W--------W 

17 Ìd2! 
 

 
Question: Why does White avoid 17 Ìd4 which looks very natural and  

seems to be tactically sound? 
 

 
Answer: An interesting moment. White could, indeed, play 17 Ìd4! when after 17...Ìxd4 

18 Ëxd4 with 19 Îfd1 to follow attacking d5 he has good winning chances. However, 

Korobov, rated 2674 at the time of this game, wasn’t satisfied with this simple approach. 

Indeed, his knight can go to d4 any time: why clarify the position when you can keep your 

opponent guessing? 

Therefore White probes with his king’s knight, eventually making Black weaken his 

queenside. He succeeds in wrong footing his opponent to such an extent that his knight 

eventually gets full possession of d4 without having to be exchanged off. 

17...Íf5 18 Ìb3 Ìe7 19 Ìc5! 

After 19 Ìd4 Íh7 the knight is sitting pretty on d4, but the attack on d5 is blocked. In-

stead Korobov wants to force Black to loosen his queenside pawns as after 19...Ìxc5 20 

Îxc5 the d5-pawn is becoming indefensible.  

19...b6 20 Ìb3! 

If you want to play the Catalan well you have to play manoeuvres of this type to weaken 

the opponent’s pawns. The knight goes forward; a pawn attacks it; then it retreats. The 

quiet nature of the position makes the loss of time in White’s manoeuvre of little impor-

tance. On the other hand, the fact the pawn can’t return to b7 means that the a6-pawn 

and the c6-square have both permanently lost a defender.  
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W________W 
[rDW1rgkD] 
[DWDWhp0W] 
[p0WDWDW0] 
[DWDpDbDW] 
[W)WDnHWD] 
[)NDW)W)W] 
[WGWDW)B)] 
[DW$QDRIW] 
W--------W 

20...Îc8 21 Ëe2 

Already the a6-pawn has become a target. Now Black should play 21...b5 or 21...a5 with 

a markedly inferior game in both cases after 22 Ìd4. In the game he prefers to give up con-

trol of the c-file to clear the way for his queen to defend a6 and d5. Of course it is almost 

always a terrible strategy to make the queen the servant of pawns.  

21...Îxc1 22 Îxc1 Ëa8  

Casting our minds back to the 17th move, we can see that Korobov has been vindicated 

in his decision to avoid the simplifying 17 Ìd4 Ìxd4 18 Ëxd4. By keeping the play com-

plex he has allowed his lower-rated opponent the opportunity to make some doubtful de-

cisions.  

23 Ìd4 

The knight lands on a beautiful blockade square with the immediate threat of 24 Ìxf5 

Ìxf5 25 Ëd3 Ìe7 26 Ìxd5 Ëxd5 27 Ëxe4 and White has won a pawn.  

23...Íd7 

In view of Black’s next move 23...Íh7 looks a better way to resist when the bishop helps 

defend the king rather than go on a fool’s errand to a4.  

24 Îc7!  

Korobov sends his rook to the seventh rank not to capture pawns, but to break the 

coordination of the black pieces and thus facilitate an attack on the kingside. Black’s next 

move is helpful to say the least.  

24...Ía4? 

The bishop abandons the fight. Black had to defend stoutly with 24...Îd8. If that loses 

then everything loses.  

25 h4 
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W________W 
[qDWDrgkD] 
[DW$Whp0W] 
[p0WDWDW0] 
[DWDpDWDW] 
[b)WHnHW)] 
[)WDW)W)W] 
[WGWDQ)BD] 
[DWDWDWIW] 
W--------W 

 
 
Question: What is the purpose of this move? 
 

 
Answer: When carrying out an attack you shouldn’t just move the big pieces. By putting the 

pawn on h4 White rules out any defence of the black king based on ...Ìg5.  

25...Ëb8  
 

 
Exercise: Now it looks as if the rook must retreat back to c1. Can you do better? 
 

 
Answer: 26 Îxe7! 

Having to respond to White’s play on the queenside and against d5 has caused a dis-

harmony in Black’s position that makes a kingside attack decisive. The first blow is to re-

move the knight on e7 from the defensive equation.  

26...Íxe7 

Or 26...Îxe7 27 Ìf5 Îd7 28 Ëg4, attacking g7 and threatening 29 Ìxh6+, which is 

crushing for White. 

27 Ìf5 1-0 
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W________W 
[W1WDrDkD] 
[DWDWgp0W] 
[p0WDWDW0] 
[DWDpDNDW] 
[b)WDnHW)] 
[)WDW)W)W] 
[WGWDQ)BD] 
[DWDWDWIW] 
W--------W 

 
 
Question: Why did Black resign? 
 

 
Answer: At first glance White’s advantage in firepower on the kingside might not look deci-

sive. However, he has three minor pieces (two knights and the bishop on b2) all aiming at 

the black king, and his queen is ready to join in the action with Ëg4. 

Meanwhile Black’s queen and bishop on a4 are out of things, while the knight on e4 can 

be exchanged off with Íxe4, removing a key defensive piece. The rook on e8 doesn’t do 

much to protect its king, so that leaves only the bishop on e7 and the pawns on f7, g7, and 

h6 to resist an attack by the white queen and three minor pieces. It’s hopeless odds. White 

can always give up a minor piece to fragment the black kingside pawns and still have more 

than enough material to force a mate.  

The immediate threat is to g7. Let’s look at a couple of lines to show how the attack 

might be brought home:  

a) 27...Íf8 (if 27...f6 28 Ëg4 wins) 28 Ëg4 f6 (28...g6 29 Ìxg6 crashes through) 29 

Ìxh6+ Êh8 30 Ìg6+ Êh7 31 Ëf5 gxh6 32 Íxe4 dxe4 33 Ìe7+ Êg7 34 Ëxf6+ Êh7 and you 

have a choice of three mates in one.  

b) 27...Ìf6 28 Ìxd5 Ìxd5 29 Íxd5 Ëd8 30 Ëh5! with threats including 31 Ëxf7+ and 

31 Ìxh6+ with a quick mate. Black has nothing better than to give up his queen with 

30...Ëxd5 31 Ìxe7+ Îxe7 32 Ëxd5. 

 
 

 
Game 21 

F.Caruana-A. Naiditsch 
Dortmund 2015  

 
 

1 d4 Ìf6 2 c4 e6 3 g3 d5 4 Íg2 dxc4 5 Ìf3 c5 
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W________W 
[rhb1kgW4] 
[0pDWDp0p] 
[WDWDphWD] 
[DW0WDWDW] 
[WDp)WDWD] 
[DWDWDN)W] 
[P)WDP)B)] 
[$NGQIWDR] 
W--------W 

A natural counterattack against d4, but of course any loosening of the black queenside 

is welcomed by the white bishop on g2. Even if Black succeeds in completing his develop-

ment, it will be difficult for him to shake off the pressure against b7.  

Before making this type of pawn thrust in one of your own games, try to decide in 

which of the following categories it belongs:  

a) It is a freeing move that disposes of the enemy centre – a good thing. 

b) It opens lines for the better developed enemy pieces – a bad thing. 

Of course the value of a positional decision is usually debatable. In a lot of cases it is the 

superior precision, knowledge and imagination of one player during the rest of the game 

that will retrospectively assign the idea to ‘a’ or ‘b’. 

6 0-0 

White gets his king out of the centre before deciding on his plan. Instead after 6 Ëa4+ 

Íd7 7 Ëxc4 Íc6 we have reached a variation regarded as not very promising for White – 

see, for example, the Korchnoi-Kasparov game in Chapter Two.  

More challenging is the line 6 Ìc3 Ìc6 7 Ëa4 Íd7 8 Ëxc4 cxd4 9 Ìxd4 Îc8 10 0-0 

Ìxd4 11 Ëxd4 Íc5 12 Ëh4 0-0 (or 12...Íc6 13 Íg5 Íxg2 14 Êxg2 and Black isn’t yet out 

of the woods as 14...Ëd4 15 Íxf6 gxf6 16 e4! looks good for White) 13 Íxb7 Îb8 14 Íf3 

Îb4 15 Ëg5 Íd4 16 Ëd2, as played in V.Kramnik-A.Naiditsch, Dortmund 2010. It looks like 

Black is active enough, but Kramnik (not for the first time!) consolidated his extra pawn 

and won.  

6...Ìc6 7 Ëa4 
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W________W 
[rDb1kgW4] 
[0pDWDp0p] 
[WDnDphWD] 
[DW0WDWDW] 
[QDp)WDWD] 
[DWDWDN)W] 
[P)WDP)B)] 
[$NGWDRIW] 
W--------W 

The alternative 7 Ìe5!? is seen in the next game. White might also try the quieter 7 

dxc5 with perhaps a small plus after 7...Ëxd1 8 Îxd1 Íxc5 9 Ìbd2 c3 10 bxc3, etc. Despite 

being isolated the c3-pawn is a useful support for a white knight on d4. I should mention if 

9...Ìg4 in this sequence Black is first pushed back with 10 Ìe4 Íe7 11 h3 Ìf6 then 12 

Ìed2 c3 13 bxc3 follows. 

Caruana aims to regain the pawn on c4 whilst forcing Black to confront the threat of 8 

Ìe5 when the pinned knight on c6 will be attacked three times.  

7...Íd7 

Meeting the threat to the knight whilst preparing a discovered attack on the white 

queen with 8...Ìxd4. 

After 7...cxd4 8 Ìxd4 Ëxd4 9 Íxc6+ Íd7 10 Îd1 Ëxd1+ (if 10...Íxc6 11 Ëxc6+ bxc6 12 

Îxd4 and then 13 Îxc4 leaves White with a structural advantage) 11 Ëxd1 Íxc6 it’s al-

ways nice to sacrifice your queen, but White is looking like a spoilsport: for instance, 12 

Ìd2 b5 13 a4 bxa4 14 Ìxc4 when he has good chances.  

8 Ëxc4 

Regaining the pawn and attacking c5. 

8...b5 
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W________W 
[rDW1kgW4] 
[0WDbDp0p] 
[WDnDphWD] 
[Dp0WDWDW] 
[WDQ)WDWD] 
[DWDWDN)W] 
[P)WDP)B)] 
[$NGWDRIW] 
W--------W 

 
 
Question: Why does Black play this seemingly loosening pawn move? 
 

 
Answer: After 8...cxd4 9 Ìxd4 the pawn on b7 is a potential target. Therefore Black gets the 

pawn out of the range of the bishop on g2 with gain of time by hitting the white queen. If 

now 9 Ëxb5? Ìxd4 10 Ëd3 Íb5 is best avoided by White as e2 will drop.  

9 Ëc3 

Caruana prefers this retreat to 9 Ëd3 as he wants to keep pressure on the c5-pawn.  

9...cxd4 

Black has a choice of moves here. If 9...Îc8 10 dxc5 Ìd5 11 Ëd2 Íxc5 12 Ìc3 Íb4 13 

Ëd3 Íxc3 14 bxc3 is some plus to White despite the weakling on c3. He has the bishop-

pair and the chance to expand in the centre with e2-e4 at the right moment. Risky for Black 

is 9...Ëb6 10 Íe3 c4 (or 10...b4 11 Ëc1 with an edge to White) 11 Ìe5! (not so clear is 11 d5 

Ìxd5, etc) Finally, 9...b4 10 Ëd3 Îc8 11 dxc5 Íxc5 12 Íg5 0-0 13 Ìbd2 Íe7 14 Îfd1 

leaves Black feeling boxed in.  

10 Ìxd4 Ìxd4 11 Ëxd4 Îc8 
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W________W 
[WDr1kgW4] 
[0WDbDp0p] 
[WDWDphWD] 
[DpDWDWDW] 
[WDW!WDWD] 
[DWDWDW)W] 
[P)WDP)B)] 
[$NGWDRIW] 
W--------W 

 
 
Question: How would you assess the position? 
 

 
Answer: Black has evacuated all his pieces from the h1-a8 diagonal. He would have pre-

ferred to have exchanged off light-squared bishops rather than have his bishop sitting on 

d7, so he hasn’t yet equalized. Nonetheless, White’s advantage is minimal. 
 

 
Question: But can’t White grab the pawn on a7 now? 
 

 
Answer: After 12 Ëxa7 Íc5 White’s queen is in jeopardy: for example, 13 Ëb7 Ìd5! (the 

key move to cut off a retreat to f3) 14 Íxd5 Îc7 and White can’t escape a draw by repeti-

tion after 15 Ëa8 Îc8 16 Ëb7 Îc7, as 17 Ëa6? Îa7 traps the queen. Alternatively, 13 Ëa6 

Ìd5 14 Íxd5 (the queen falls after 14 Ìd2 Îa8 15 Ëb7 Îa7) 14...exd5 15 Ìd2 0-0 leaves 

the white queen shut in and in danger of being lost. Black has at least a draw. 

Therefore Caruana develops and keeps the attack on a7 as a latent threat. 

12 Íf4 Íc5  

A very natural reply. Black develops with gain of time and deals with the attack on a7.  

13 Ëd3  

Notice how White’s unobtrusive 12th move gained power after Black’s reply, because 

14 Íb7 now threatens to win the exchange. The bishop didn’t threaten anything at the 

time it went to f4, as Black had the option of ...Îc4. But that is the way it sometimes hap-

pens in chess: a move gains strength after the opponent’s best reply. In reality White ex-

changed one threat (13 Ëxa7) for another (14 Íb7). And after Black’s next move – which is 

again ‘best’ – we see another chance for White to increase the pressure suddenly appear.  

13...Ëb6  
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W________W 
[WDrDkDW4] 
[0WDbDp0p] 
[W1WDphWD] 
[DpgWDWDW] 
[WDWDWGWD] 
[DWDQDW)W] 
[P)WDP)B)] 
[$NDWDRIW] 
W--------W 

Black meets the threat of 14 Íb7 and puts the queen on an active square where she ties 

down the rook on f1 to the defence of f2. She also solidifies the queenside in general. On 

the other hand, the bishop on d7 is left somewhat hanging and Black’s kingside is short of 

defenders. 
 

 
Question: But the bishop on d7 is defended twice! How is it somewhat  

hanging? And where are the white pieces to attack the supposedly  

under-defended black kingside?  
 

 
Answer: Patience! As after 12 Íf4 we have to look beyond the present position to see 

White’s chances. Black is going to castle, after which the bishop on d7 loses one defender, 

and then White will challenge its other defender. This will lead to the black kingside be-

coming depleted of defenders. Let’s see how the game unfolded. 

14 Ìd2 0-0 15 Ìe4  

Here we are: White threatens to win a piece by capturing on f6.  

15...Ìd5 

Instead after 15...Ìxe4 16 Íxe4 both d7 and h7 are hanging. Or if 15...Îfd8 16 Ìxf6+ 

gxf6 17 Ëf3 White can work on the fractured black kingside. Therefore Naiditsch blocks the 

attack on d7 while preventing damage to his kingside, but now all Black’s minor pieces and 

his queen are on the queenside.  

16 Ìg5!? 

Caruana aims to exploit his advantage in firepower on the kingside. In fact 16 Ìxc5!? 

Ëxc5 17 Íe5 Îfd8 18 Îfd1 would leave him with a small but enduring edge because of the 

bishop-pair. Evidently the American Grandmaster preferred to play a more lively game.  

16...g6 

Upon 16...f5 17 Íxd5 Black can resign as he drops a piece, while if 16...Ìf6 the simplest 

way to win a pawn is 17 Ìxh7! Ìxh7 18 Ëxd7.  
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17 Íe5  

White continues his kingside build-up.  

17...Íe7 

Naiditsch might have sought counterplay against f2 with 17...f6 18 Íxd5 fxg5 19 Íf3 

Íc6 with unclear play. Of course it would have been difficult to switch to aggressive play 

at the cost of a broken pawn structure when he has played a solid opening so far.  

18 Ìf3 Íc6 19 Ëd2  

W________W 
[WDrDW4kD] 
[0WDWgpDp] 
[W1bDpDpD] 
[DpDnGWDW] 
[WDWDWDWD] 
[DWDWDN)W] 
[P)W!P)B)] 
[$WDWDRIW] 
W--------W 

 
 
Exercise: Can you see White’s threat? And what happens if Black plays  

19...Íf6 or 19...Îfd8 to meet it? 
 

 
Answer: The threat was 20 Ëh6 f6 21 Ìg5! when taking the knight allows mate on g7, so to 

defend h7 Black must give up the exchange with 21...Îf7 22 Ìxf7. If 19...Íf6 then 20 e4! 

wins a piece after 20...Íxe5 21 exd5 as both black bishops hang, or 19...Îfd8 20 e4! (if 20 

Ëh6 Black has 20...Íf8) 20...Ìf6? (Black has to defend a lousy position with 20...Ìc7 21 

Ëh6 Ìe8 22 Ìg5 Íxg5 23 Ëxg5 though the bishop on e5 dominates the dark squares) 21 

Ëg5! Ìd5 22 Ëh6 Íf8 23 Ëh4 Íe7 24 Ìg5 Íxg5 25 Ëxg5 f6 (if the knight retreats to c7 

then 26 Ëf6 decides) 26 Íxf6 Ìxf6 27 Ëxf6 and White has won a pawn. 

19...f6 

Finally Caruana has extracted a long-term structural advantage through his positional 

(we might say tactical) pressure on the kingside.  

20 Íd4 Ëb7 

He prefers not to let the white knight get to a strong central post after 20...Íc5 21 Îac1 

Íxd4 22 Ìxd4.  

21 Îac1  

After 21 Íh3 e5!? 22 Íxc8 Îxc8 would be an interesting exchange sacrifice as White is 

weak on the light squares and his bishop passive on e3.  
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21...Îfd8 22 Íh3  

Aiming the bishop at the undefended pawn. If now 22...e5 23 Íxc8 Îxc8 White can take 

the sting out of Black’s sacrifice with 24 Íc5!. 

22...Íd7 23 Îxc8 Íxc8 

W________W 
[WDb4WDkD] 
[0qDWgWDp] 
[WDWDp0pD] 
[DpDnDWDW] 
[WDWGWDWD] 
[DWDWDN)B] 
[P)W!P)W)] 
[DWDWDRIW] 
W--------W 

 
 
Question: Why did White give up the c-file and Black not reply 23...Îxc8  

to take control of it?  
 

 
Answer: After 23...Îxc8 White would focus on playing on the d-file, either with the imme-

diate 24 e4 or more likely with 24 Îd1, planning e2-e4 as appropriate (the threat is 

stronger than the execution!), so Naiditsch keeps his rook on d8 to bolster his defences 

there.  

24 Îc1 Íd7 25 Íc5! 

Black’s pawn structure is entrenched on the light squares, but not guarding central 

dark squares like c5 and d4. The exchange of bishops emphasizes Black’s fragility whilst 

vacating d4 for White’s knight or queen.  

25...Íxc5 26 Îxc5 Îc8  

Black is aiming to draw through simplification, but there is a favourable way for White 

to exchange rooks. 

27 b4! 

So far Caruana has shown restraint in the use of his foot soldiers, but now is the mo-

ment for his pawns to get involved in the struggle. The exchange of rooks will yield him a 

passed pawn. If Black refuses then 28 Ìd4 will increase the pressure.  

27...Îxc5 28 bxc5 Ëc7 29 e4! 

The threat of this advance has hung over Black’s knight for many moves. Now at last it 

is time to strike.  

29...Ìe7 30 Ëd4! 
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Not only defending the c-pawn, but more importantly attacking f6. Black can’t reply 

30...e5 without dropping his bishop, and so he has to allow the further advance of White’s 

e-pawn.  

30...Êg7 31 e5 f5 32 Íg2! 

W________W 
[WDWDWDWD] 
[0W1bhWip] 
[WDWDpDpD] 
[Dp)W)pDW] 
[WDW!WDWD] 
[DWDWDN)W] 
[PDWDW)B)] 
[DWDWDWIW] 
W--------W 

The bishop has performed its role on h3 and now returns to g2 to fight for the crucial 

d5-square. 
 

 
Exercise: How should White reply to 32...Ìd5, planning 33...Íc6 with a  

blockade on the light squares? 
 

  
Answer: An example of Tartakower’s dictum that chess is the tragedy of one tempo. Black 

wants to play 32...Ìd5, but this fails as he doesn’t have the g5-square guarded by a pawn: 

33 Ìg5! (threatening 34 Íxd5; Black has no time for 33...Íc6 as e6 drops) 33...Ëc6 34 Êf1! 

(why not gain a tempo to centralize the king rather than take on d5 straightaway?) 34...h6 

35 Íxd5 Ëxd5 (if 35...exd5 36 e6+ and wins) 36 Ëxd5 exd5 37 Ìf3 Êf7 38 Ìd4. White has 

every chance to win: his knight is on a superb blockade square and he has two advanced 

passed pawns which can’t be approached by the black king or attacked by the ‘bad’ bishop.  

32...h6 33 Ëd6! 

An offer to exchange Black can’t refuse, as 33...Ìd5 34 Ìd4 or 33...Ëd8 34 Ìd4 with 

ideas of 35 c6 or 35 Ìxe6+ are both fatal for him.  

33...Ëxd6 34 exd6 

Only this way: White wants two passed pawns and access to e5 for his knight.  

34....Ìc6  
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W________W 
[WDWDWDWD] 
[0WDbDWiW] 
[WDn)pDp0] 
[Dp)WDpDW] 
[WDWDWDWD] 
[DWDWDN)W] 
[PDWDW)B)] 
[DWDWDWIW] 
W--------W 

Naiditsch’s minor pieces are now blocking the pawns and his king is ready to join in the 

action. White has to act fast before Black plays moves like ...Êf6, ...e5-e4, ...Êe6 and ...Êd5 

to attack the c5-pawn. 

35 Ìe1! 

Also good was 35 Ìd2!, planning Ìb3, Íxc6, Ìa5 and c5-c6 to force the pawns for-

wards. With the game move White prepares Ìd3 followed by either Íxc6 and then Ìb4 

and c5-c6 or Íxc6 and Ìe5 followed by a pawn advance. If Black plays ...Êf6 White can if 

necessary play Íxc6 and then f2-f4! followed by Ìe5.  

35...a5 36 Ìd3 b4  

Black has guarded against Ìb4, but an approach via e5 is still available to the white 

knight.  

37 h4 

If 37 Íxc6 Íxc6 38 Ìe5 a4! and Black has the chance to escape as he should draw after 

39 Ìxc6 b3 40 axb3 axb3 41 d7 b2 42 d8Ë b1Ë+ 43 Êg2 Ëe4+ 44 Êf1 Ëxc6. Caruana 

therefore prepares to put his king on h2 so that he would win in this variation as it would 

no longer be check when Black promotes.  

37...Ìd4 38 Êh2! 

Steering clear of 38 Ìe5? a4! 39 Ìxd7 b3 and Black will queen.  

38...Íb5 

Or 38...Êf6 39 f4! and White is ready for 40 Ìe5. 

39 Ìe5 Êf6 40 c6! 
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W________W 
[WDWDWDWD] 
[DWDWDWDW] 
[WDP)pip0] 
[0bDWHpDW] 
[W0WhWDW)] 
[DWDWDW)W] 
[PDWDW)BI] 
[DWDWDWDW] 
W--------W 

A neat finish, though 40 f4 also wins. If now 40...Êxe5 41 d7 Ìxc6 42 Íxc6 and the 

pawn gets to d8.  

40...Íxc6 41 Ìxc6 1–0 

After 41...Ìxc6 42 Íxc6 White’s bishop will hold back the black queenside pawns whilst 

defending his passed pawn on d7.  

A brilliant game by Caruana who showed enormous skill and determination. It’s no 

wonder he was rated 2805 at the time of this game. 

 
 

 
Game 22 

V.Laznicka-O.Kobo 
Jerusalem 2015  

 
 

1 Ìf3 Ìf6 2 g3 c5 3 Íg2 Ìc6 4 0-0 d5 5 d4 e6 6 c4 dxc4 7 Ìe5 

W________W 
[rDb1kgW4] 
[0pDWDp0p] 
[WDnDphWD] 
[DW0WHWDW] 
[WDp)WDWD] 
[DWDWDW)W] 
[P)WDP)B)] 
[$NGQDRIW] 
W--------W 




